Question Paper Title : TI_15

Date of Exam : 11-07-2019 10:00 AM

Reference ID:(9698) —3 -5 —8

77—34&7 T ITScTT HATA AT

Answer: —8 —5 —3 8

Reference 1D:(9679) GRA=1,LOT =47, QR MAT =7?

A.40
B.66
C.34

D.51

Answer: C.34



Reference ID:(9660)  YRATAT Had faqH=ied RIS 2019-20 T dRHA riddwed
Wit ool URdd bar?

A 31307 St
B.fOgy My
C TSy R
D.7Rg Hil

Answer: Bﬁgﬁf Tad

Reference 1D:(9424) GTitd arerdiel SreRfad Wsard ot sfieswr.
IE 3T ATeehTa el g,

Answer: B. TAITeT

Reference ID:(9700) TE AR AE 3 fﬁ{ﬁiiﬂﬁ‘ﬂa ug 5T 37" U Sgoshd HIY, aX 0Nk Al
FIUTT 9 § U T

A4
B.5
C.6

D.7

Answer: B.5



Reference 1D:(9666) " YR B Wietiede! ot Jufiem SR ot S
A S{HarRl YR
B.60 a9 INfaRie aU%h clich
C.5 99 auf@rdia @e™ 9ol

D.faw i die

Answer: C.5 39 aufEed de™ H@I

Reference 1D:(9661) Yok TASH ST Hitrcdt 2019 =t 8 df 3Tait &1 WIRd SHfOT
SRITGRE SIS bt it Bldil?

INCIRRICR
B.41 efep1

C.HMAR
D.AUre

Answer: A.EI'IJEI@QI

Reference ID:(9434)  Reorrr 9rft avg wafy fRaar.
T, o, TIRIV0T a1 Weg YRS FRITTIR 98d gial U T .........
TEUTdTd.

A forame
B.3ffdHRY
c fawrst



D.Ih U]

Answer: C.W

Reference 1D:(9654) URUR 1" SHIRTY & HRAM e HIureT saredt Uig areiaed fyd 3mg?

A TS AT
B.&lcdh
C.deun

D. R

Answer: D. 3RS

Reference 1D:(9197) Choose the appropriate option with the correct punctuation marks for the
given sentence:

fetch me a glass of water said my father
A.Fetch me a glass of water! said my father.
B.Fetch me a glass of water, told by my father.
C.Fetch me a glass of water? said my father

D.“Fetch me a glass of water!” said my father.

Answer: D.“Fetch me a glass of water!” said my father.



Reference 1D:(9688)

Answer:

Reference 1D:(9659)

Answer:

Reference 1D:(9419)

Answer:

U1 9! fdehl B 20% diet gidl. fodt STuRdt 240 Ui fashT delt, R
TN 10% T -] AT SRAAT. 25% TR fasht obeil ST 38d o ! fasht
fhHd BT S TEt?

AX. 950
B.%. 1020
C.%. 975

D.%. 1000

D.%. 1000

fETaR-2018 ALY SIS A TRT dHaied we-37 AT 2018 ALfd
"I I JuirErel! HeRIPEg NIKELSIGREI]
AN 3{TI0T HIRAR

B.HEIUCR

C.aaon

DR

A STH STIOT HIRER

GTcH PTe! Req T AT JAMRI Weq faaidd Med. AT gl Siial T,

AU
B.gU-TTd

C.db-Hdd
D UH-dy

C.dh-Hdb



Reference ID:(9442)  JaId AIayRIRI<AT A Sy Uaid e,

JT g™ PhTdes] - §lhaul-

A3 35 RITguT BT

B. I YAl HRUR HGd U]
ok HEAUIKIHEAR H R
D. U TR Sita SHTor

Answer: Cc.®da! ﬁUﬂ?ﬂﬁ Dol <ol

Reference 1D:(9413) Choose the appropriate conjunctions for the given sentence:

the bride the groom looked unhappy.

A.Both, or
B.Either, nor
C.Both, and

D.Either, for

Answer: C.Both, and

Reference 1D:(9411) Choose the appropriate prepositional phrase for the given sentence:

The theatre class is an excellent different cultures.

A.bridge for
B.bridge between
C.bridge in

D.bridge over

Answer: B.bridge between



Reference 1D:(9697)
TTATETEhT HIUTAT HTehal TTgedT ATSTHRGE = GHLT AT JUT & 2ehel?

E:E;@; ’

Answer:

Reference ID:(9669)  qfcral 40 ufe 3MTg SHTf0T XPHT 60 Tui 3MTg. fobelt awiydf <= aar
TUIRR 3{h A 3:5 Bd?

A5 Y
B.10 9%



C.20dY

D.37 99
Answer: B.10 @Y
Reference 1D:(9195) Choose the option that has the correct spelling for the missing word in the

given sentence:

Please, my excuses!

A.accept
B.except
C.aceppt

D.aceptt

Answer: A.accept

Reference ID:(9425)  SR-TR, ®RUI B &l IHITG! 3 STIg DIUId a1 TR BId?

A Tgreff

B.F8% It
C.Tgad ard
D.%dd a1

Answer: B.fay arm

Reference 1D:(9199) Choose the correct form of adjective for the given sentence:

The ship sustained damage.



A.big
B.tremendous
C.extraordinary

D.heavy

Answer: D.heavy

Reference ID:(9447)  SUJUIEA Hecl-WIeH RIGRMEL WICUA 1 & T3R (TFW) 2019 =T faotdr
WA HIv BIaT?

A RS AT (HeH W)
B. ST 70T (F=I=aron)

C.UC $HR el (Pedrd)
D.IRH Ared} (Femarsth

Answer: A RS 9 (ﬁaﬁ @3)

Reference 1D:(9429) ‘TS YPHTD] DR 3@ D12’ T AT HRSATA 35T,

A Z-3MATd
B.3- 3TATd

C.3araATd

D.UYH dreAdid

Answer: B.&- ATRATd

Reference 1D:(9687) SRA:B:11:53f0IB:C::6:7,RA:C:=?



Answer:

Reference 1D:(9196)

Answer:

Reference 1D:(9683)

Answer:

A11:7
B.66:7
C35:7

D.66 : 35

D.66 : 35

Choose the appropriate option with the correct punctuation marks for the
given sentence:

when youre on a bicycle riding alone thats great

A.When youre on a bicycle riding alone that’s great.
B.When you are on a bicycle; riding alone that is great.
C.When you’re on a bicycle, riding alone, that’s great!

D.When you’re on a bicycle riding alone that is great!

C.When you’re on a bicycle, riding alone, that’s great!

Ueh kil 300 | il Il 5 fAfeid UR al. @R & fhdierasd asit
CURC K

A TTRIt 3.6 Tt

B.d=i 2.6 fobuit

C.dmit 7.2 fabeit

D .=t 1.5 Tt

ARl 3.6 foodt



Reference 1D:(9672)

Answer:

Reference 1D:(9403)

Answer:

Reference 1D:(9446)

Answer:

TAT ST 3 H 1:8:16 T TUITRIAED 1 $UAT, 50 U 371f0T 25 Uit Aroft
3fTed. SR §71d UHUT 450 T 3Rd R 50 U=Ti=T 10t W& H1al.

A.400
B.300
C.200

D.100

A.400

Choose the option with the appropriate prefix to complete the given
sentence:

Mrs. Sharma’s husband works in the communications department.

A.tele-
B.uni-
C.sub-

D.semi-

A.tele-

"f2 Ye fEgsmiEetic: 318 g AId Wiss T gRe ORI ¢ o fg
gfega s a1 e QasdTd a@d HIu 3ed?

A FTHH S TSt
B.XY H1S
C. 3o e

D.XY [H Rl

AFaHH g It



Reference 1D:(9673)

Answer:

Reference 1D:(9200)

Answer:

Reference 1D:(9432)

19 15 Td T=1 3raie fafdse T uend Fal Sird 3117 arefss U sled
ST, BTt f[ddbiereaR 3 =1 Ueid 3rged RSl 3uaT YHIUT B 3Tg?

A1/3
B.1/10
C.7110

D.10/7

A1/3

Fill in the blank with the correct noun for the given sentence:

The colour of food sends important to our perceptions.

A.sign
B.signals
C.signage

D.signatures

B.signals

P aTIEHOR Sl av Tl Fag $.

.......... SR daal.



Answer:

Reference 1D:(9405)

Answer:

Reference 1D:(9665)

Answer:

Reference 1D:(9686)

Ad

Choose the appropriate articles to complete the given sentence:

apple day keeps doctor away.

A.The, a, an
B.Not required, an, a
C.An, a, the

D.An, the, a

C.An, a, the

TR GR IR dHoredl AlfgdIgaR, HRATHE 3dd diaH ey
IR e WefldUe! HIvrd e JHIAY STd T81?

TUh 5 Th] TTH I 8 dITd HRal. TTh! 3ieff HReATaR IXITE UbRT SMURd! i
5 IYSTITA 3L, Tt <Th! gUT HRUITS] THUT el ded ARIa?

A5 dN

B.6 dI¥

C4dN



D.3 di¥d

Answer: A5 dYH

Reference 1D:(9441) Jaid Yearaid SURRIT &R PVl RIMEST SR ST JATHHT0 THR
3{ies.
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INGIGE!
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Answer: A.dlcddy

Reference 1D:(9445) 6 T 2019 A HERIPTA T IuT< WA HRUAITS! BV HU ISR el
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Answer: B.‘J_@Tl'l@?ﬂ

Reference ID:(9689)  TRI&HE 3<i0f 10T T[0T 40% 3MTd. SR SMRIdaT 88 0T fasTel AT Ta
10 T[UTT AU e 9if¥d o, TR WRI&TEd ST 07 fdbdt gid?

A.240

B.242



C.245

D.246

Answer: C.245

Reference 1D:(9426) g,‘cﬂa T UHR 35T,
TUTRIGHT MeiaTRT RIGard gid U o 39T grav Td.

AT
B.fy ar
C.Tgd a1’
D.had a1

Answer: B.fay arm

Reference 1D:(9450) 1955 AT ARTR DT HIIYTAT dRAGITIR, HRdTd ARG Y fHosdd S
R[ehd ATGI?
A S
B.AHROm
C AlgufiA
D. YR SHT U STHT S

Answer: D.HRAT JhHed U SH B

Reference ID:(9671) SR U THHeH 1 T 3101 3 T 3HT=AT RIMRT Sgaded dball, a8
gfsufiHR wreiterte! Hivrd Tatd dgm e 3ra?

518, 725, 849, 387, 634



A.634
B.387
C.725

D.518

Answer: A.634

Reference ID:(9668)  BRa¥g UNUIMHNITS! WIedUd! HIUAT aiY STATEGR 3RdI?

A TT0OR §1S]
B.AICISH

C. IR SRS S

D. 3{TTgor

Answer: A.OT0gT ST

Reference 1D:(9656) %ﬂﬁﬁmmﬁmﬁmﬁﬂwmm
?
A.1920
B.1922
C.1923

D.1925

Answer: C.1923



Reference 1D:(9417)

Answer:

Reference 1D:(9402)

Answer:

Reference 1D:(9415)

Choose the correct form of tense for the given sentence:

I not able to enjoy my trip to the hill station as | feverand ___ to
take rest.

A.was, had, had
B.am, have, was
C.did, have, were

D.will, have, are

A.was, had, had

Choose the option with the appropriate prefix to complete the given
sentence:

consumption of junk foods may cause an Irritable Bowel Syndrome.

A.Over-
B.Mono-
C.Micro-

D.Non-

A.Over-

Choose the correct form of verb that is in agreement with the subject:

The horse and trap waiting for a long time yesterday.

A.has been
B.have been

C.were



Answer:

Reference 1D:(9406)

Answer:

Reference 1D:(9682)

Answer:

Reference 1D:(9664)

D.had been

D.had been

Choose the correct form of verb for the given sentence:

Is it possible for you to go and your sick grandmother today?

A.visits
B.visit
C.is visiting

D.was visiting

B.visit

Teh] STAd YR Yoo 250 ST BId. ST T Yeh[HE 20% U< dhail, degl
faforer=an fawiayr MU ITd § 12% it aled, Tehil Sea e favd!
Tadh d1¢ Tail gidl.

A.20 %
B.40 %
C.46 %

D.52 %

B.40 %

2019 ALY, U= HRAHY UGS SSIUMETS! U AN ISl 38
Sl SIqea+T SiTdll 3107 GaT0T UrfaredHed Uasl Hdl.

A.USTd



Answer: BR:CE]

Reference ID:(9427)  YaId IR A TRY dIRT 3Ncswl.

A TTUTGSITARAT STl HTdid U=l Urs,agun S9cd.

B.UTUIGGATARAT 3l Hicid Ul U3 egul SHT !
C.UTU[dSATaR! Sied Hdiid Y&dieal T, oRgull JHTT!.
D . UG aTaRd el HIdId U&diaT URSegul SHCl.

Answer: B.UTUIGSATARAT 3] HTcid Y&IiT UTd eRgull SHCE.

Reference 1D:(9423) SIS Rleg e VegTan gafg fAas.

A TR
B.g&fac!
cEregsy
D SrSHISIel

Answer: A HTIRI

Reference ID:(9655) "HIIGI-TIR HIUATAT GEGdTa" Hed-T ol HIuTl o=Imedl HAUHHYH YR
fqumTHeE WibRa! gldl?

A ST



B.faci=r
C g P
D .XRmn

Answer: B.fodar

Reference ID:(9653)  WIcitaides! HIUT HESHENd fhoR dridhdl 3MTg ATIOT AT 2019 AL HRG
fasue SRTER Ragued gd WA Mgdd HRugrd 3iielt 311g?

AR TTad
B.4dl HgH
C.oI HSH

D1 <d

Answer: A.Tﬁff gqrdd

Reference 1D:(9404) Choose the appropriate articles for the given sentence:

From distance, columns looked like collection of poles.

A.the, no article, the
B.the, the, an
C.a, the, the

D.a, the, a

Answer: D.a, the, a



Reference 1D:(9408) Which of the following options best combines the two given sentences?

She can read. She cannot write.

A.She can read but cannot write.
B.She can read and write.
C.She can read yet write.

D.She cannot read or write.

Answer: A.She can read but cannot write.

Reference ID:(9663) YR AfAUMHIAT 3fasc 165 TR ATl Heldaddre el HIuT ddl?

AXTSgUTe]

B.3 T ~aTaTeis
C.g=H HAt
D.HRAT T3 =TT

Answer: AU

Reference 1D:(9422) SISTTeg Aaaid Ueg ol

A HIBTHTEST

Answer: D.W



Reference 1D:(9662) fRraroll AERTSIR TfSe Wiefiede! Hrorar auf HRuard Te?

A4l 99 1674
B.39dl I 1672
C.39dl 94 1673

D.39dl 94 1675

Answer: A.sﬂiﬁ qq 1674

Reference 1D:(9438) Yeld dieiided g o 3{oy T,
3{TIUT ITAHTIRE! UG aTe UTgd! 3Teld, ------ UIaqH Gord ARd! 3G

A.REm™
B.3{YdT

c.yu

D.%UH

Answer: cC.gur

Reference ID:(9676)  UHI [qEA U1 A 7/5 Ugeil 5/7 = OIQY. TU-HE fobedl Tad It el
3 d?

A.38.97%
B.48.98%
C.57.97%

D.45.98%



Answer: B.48.98%

Reference 1D:(9431) YRR foraTaarT 9 UHhR 3iiesl.

T} Tad-<4T dTdTaR Alh T Aradd.

A FHHD
B.3{HHD
C fopti
D.YaTh

Answer: D.E@W

Reference 1D:(9685) 3 AFTIUTS UM IR TRIERT 9 3Te. AT oI ReA=AT Hefci Tt el

A6
B.9
C.12

D.10

Answer: B.9

Reference ID:(25010) 1300 et 0T 900 Gt TRIGHE TEURT Yddll, 40% et A0 35% Heil
STl STedT. A0 STciedT U@ Ul fqematdt cadhari?




Answer:

Reference 1D:(9407)

Answer:

Reference 1D:(9414)

Answer:

*** THIS QUESTION IS DISCARDED ****

Choose the appropriate determiner for the sentence given:

| liked the film, but not the songs were good.

A.many
B.some
C.all

D.much

C.all

Choose the most appropriate usage to fill in the blank in the given sentence.

Some of the parents talk in parent-teacher meetings.

A.sensitive
B.sensible
C.sensibly

D.sensation

C.sensibly



Reference ID:(9443)  JaId arddTd GaRATId 3 dTeRER FHagl.
T BRI JiTd Uha WD [gdld.

AHSYH TS0l

B. I TR Ul
C.3R9d PIeul
D.T[ugrfdEH i

Answer: D.HUEFITnﬁ_c{Ief igul

Reference 1D:(9680) U g Sl S Trell ga?
DCE, HGI, LKM, ?, TSU

A.QOP
B.WVX
C.POQ

D.ONP

Answer: C.POQ

Reference 1D:(9435) TTeTd - SYUMRT e 313wl
AIS, @8H, 39, S

AFS

B.d8M
Cc.3d

D.uldad

Answer: D.slded



Reference 1D:(9448) ST IoT TR 1T <O R RGNS HRAG $%
PHegl YT  IoUT SIRT Hal?

A.22 TUd, 1988

B.25 W, 1980
C.20 9, 1981

D.30 TUd, 1978

Answer: A.22 TUd, 1988

Reference ID:(9678) el fadiedT IR URuTtieht ShI0Ta Uil WTel! fecient gamsft sraeuot Sosd
AT81?
2 beach street
Fremantle wa 6160
Western australia
9433 2066
()2 beach street
Fremantle wa 6160
Western australia
9433 2066
(i) 2 beach street
Fremantle wa 6160
Western australia
9433 2066
(iii) 2 beach street
Fremantle wa 6190
Westenn australia
9433 2066
(iv) 2 beach street
Fremantle wa 6160
Western australia
9433 2066

B.ii



C.iii

D.iv

Answer: C.iii

Reference 1D:(9439) SITUIITAT died Usq GRATAUATHR Al BT FIgr aTuR HrdTa?
ATDR] IR
B.3%RMIg
C.uyfasg

D.gox! 3faaRUl

Answer: D.?@ﬁ SR

Reference ID:(9657) T 10T gAY < SRAIRURH & 3 f§ 3R RIBR 2018 7 Ul
T Sl 31?2

A 1T
B.UcI febctar
C.IYF A H-Ieq

D.3f2rcl exg



Answer: AT Sifor

Reference ID:(9684)  WTdit fadiedn Afdsded sididl U ARy wr TaIfdy oife. Joial HH 3T

121, 169, 224, 289, 361, 441, 529

A.224
B.289
C.361

D.169

Answer: A.224

Reference 1D:(9401) Choose the appropriate collective noun to complete the sentence:

A is a group of people who live in a certain area.

A.community
B.family
C.neighbourhood

D.clan

Answer: A.community

Reference 1D:(9436) JaId AT sy faRsuren v fAaer.
eld

INELET]

B.XI&



c a1
RACIE]]

Answer: clar

Reference 1D:(9409) Choose the correct form of modal auxiliary verb for the given sentence:

You not give in to temptation.

A.could
B.should
C.may

D.might

Answer: B.should

Reference 1D:(9198) Choose the correct form of adjective for the given sentence:

How many persons do you need to work as salesmen?
We need people to work in Mumbai.

A.much
B.a little
C.little

D.a few

Answer: D.a few

Reference ID:(9428)  WIdiid A (A8 ficswl.
BT JUIRT U1 HH ST A< AT AT HIT.



A3
B.JUIRT
c.aar

Answer: D.HTFTd

Reference 1D:(9194) Choose the option that has the correct spelling.

A.Prettier
B.Prettyer
C.Prettire

D.Prettiar

Answer: A.Prettier

Reference 1D:(9433) eldl deTdiel S{euaral YhR 3fcal.

31gTeN forclt faaviT 3R § ==y

A R[eSTN 30T
B.SHITad! 3y

C fopanfarivur sreqy
D.haqydNl ey

Answer: D. Haduarft 3reay



Reference 1D:(9412) Choose the most suitable conjunction for the given sentence:

The team worked not only consistently carefully.

A.likewise
B.besides
C.but also

D.moreover

Answer: C.but also

Reference 1D:(9430) g ygtart e a.

Answer: B.BpccUl

Reference 1D:(9418) Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

The only reason he was working night and day and did not socialize was
because he thought of only money.

A.Wealthy
B.Mercenary
C.Missionary

D.Omniscient



Answer: B.Mercenary

Reference 1D:(9675) SR S9! HioR, Teh HTSTSIHH 1106 JT e e Wld, R Uh[ fgaamaed ot
fohcll dhe e T sa?
A.160 J9
B.158 UH
C.221 99

D.92 ¥H

Answer: B.158 g

Reference 1D:(9420) fediedn TsaierdH favaf e s,

Answer: cfox=

Reference 1D:(9437) Y g AT

B.HTaTe
C.HEM

D.YHId



Answer: A.HTS

Reference 1D:(9674) U A9 18 fopd! Ufd = 9 Uary Sd 101 Tt el 540 fhanid
rr@ﬁwjﬂ% 43,200 fHaRH A THSUgNTST aad il S&

A.30
B.80
C.300

D.2400

Answer: B.80

Reference ID:(9652)  HIE 2019 A Y& il gHUHR TagUY JuaTal HERIFHE T Qeiiaded!
DI RIFHIR Sied?

AZdarRY
B.31STH!
C.HBHAT
D. Tyt

Answer: B.3SH!

N N C

Reference 1D:(9449) SATFOT HRA IR a8 Al Yed GA0T G ey
HIAT-ad HRUGNITS] HoliaR WIERT bt TR,




A MR 7Y AN [dPT §h (THATTS S 13MT)
B. YR SR fahTy o

C.SEdTHe §F 3 RTRR (Steed)
D.3MTRmars fder g (TSTeh)

Answer: D.Sﬂﬁrﬁlﬁ faerg I (Q@ﬁ'@ﬁ)

Reference ID:(9667) WAl &g YU SalTd Th ICTE0T 3172

AT¥d g
B.faggafufas s«
C. gy §d

D JabIa 9

Answer: C.HETUT dd

Reference ID:(9421) fediedT TsaiTerdH favaf e s,
15 23] 3 5 Q—

ABRIR
=ICIIRS]

D.Ag

Answer: B.ATUTH



Reference 1D:(9410)

Answer:

Reference 1D:(9901)

Answer:

Reference 1D:(9440)

Answer:

Choose the appropriate prepositions for the given sentence:

The manufacture computers is very essential our economy.
A.of ... to

B.in ... for

C.on ... into

D.for ... off

A.of ... to

afser 37T FeTT=! a4 § 37e]ehe? 5:2 AT VM ceR T 37T8. 8 TWI=Ac FTSeire a3 § Herear aardl
wmﬁ.ﬁ%ﬁaﬁ%ﬁaﬁaﬁw%wm%wm

A.32 9%
B.22 I%
c.12dd
D.17 a%

A.32 9%

PHIUAT fAYTId Thda 30T 3Hddad a1 Glaid Uedd T9dId?

ATYHT

B.qaal
c.agdf
D. U

ATYHT



Reference 1D:(9658)

Answer:

Reference 1D:(9651)

Answer:

Reference 1D:(9416)

Answer:

ATH-2019 Hed SR R0 dHaiedl il faemdier YRdare
SWRIYU! &1 HIG Sidee - FHI-d el 38,

A e Y R0, ATD ST Wil HaeHT (gl
B. SR S{RIY FUcHT (Sseguan)

C.Jgad AP HeeTT (TEe)

D3R 3fcdifcd A HoeT (A1)

C Tgerd 1Y HYeHT (JUASN)

HRATAT AFYHIT S e seenfemn faardisre ufgwn Afge 3u
FHAUT TGO WA HIomE e et

AT, ST 3R

B.UI. 1 58

C.S1. YT d1eHUH
D ST, fireft sl

AT FSTHT 3HedR

Out of the following options, identify a compound sentence.

A.After the storm the whole place looked messy.
B.Should we wait for others, or start our dinner?
C.The children loved their day at the zoo.

D.The match was continued after the rain.

B.Should we wait for others, or start our dinner?



Reference 1D:(9677) TR} BTal.
65, 75, 85, 95, 75 & 55

A.65
B.85
C.75

D.95

Answer: C.75

Reference ID:(9681)  Rarn SIft v W FagH @ quf &

6, 11, 21, 36, 56, , 111

A.61
B.71
C.81

D.91

Answer: C.81

Reference 1D:(9444) 2019 ¥, Dol TeHATTI IR TRl ANIHTAT BT T A1d YINRIST
HRUGTA] YRATAY TR dhal?

ATRER
B. AR

C.d91%

D.3{dlgdlq

Answer: D.3{dlgdlg



